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12)
(b)(i) Because the ions are free to move {(when a Electrons / 1
potential difference is applied) particles are
free to move
estion | Acceptable Answers Reject Mark
mber
(b)(ii) | The cations / barium and calcium (ions) are Atoms are 1
different sizes different sizes
lgnore any discussion of reasons
(could select either the calcium ion because it
has more water molecules associated with it
OR the barium ion because it has more shells
of electrons and so larger)
(b)(iii) | Mass of calcium ions in 1 kg=0.100 x 40 (= 4.0) 2

(g) (1)

If mass quoted must be correct to score first
mark

Hence 4.0 ¢ per 1000 ¢ of solution
So ppm = (4.0/1000) x 1000000
= 4000 (ppm) (1)

OR

Mass of calcium ions in 1 kg = 0.100 x 40.1
(=4.01) (g) (1)

Hence 4.01 ¢ per 1000 g of solution

So ppm = (4.01/1000) x 1000000

= 4010 (ppm) (1)

Correct answer alone = 2 marks

Allow TE for second mark from incorrect mass
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WMD) | From purple / pink — colourless clear 1
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